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Skills Worksheet

Chapter 7 Review and Study Guide
Using Key Terms

Complete each of the following sentences by choosing the correct term from the word bank.

adaptation
evolution
species

natural selection
generation time
speciation

fossil record
selective breeding


1.
When a single population evolves into two populations that cannot interbreed anymore, ______ SPECIATION ________________ has occurred.


2.
Darwin’s theory of _____ NATURAL SELECTION _________________ explained the process by which organisms become well-adapted to their environment.


3.
A group of organisms that can mate with each other to produce offspring isknown as a(n) .____ SPECIES __________________


4.
The ___________ FOSSIL RECORD ___________ provides information about organisms that have lived in the past.


5.
In ____ SELECTIVE BREEDING __________________, humans select organisms with desirable traitsthat will be passed from one generation to another.


6.
A(n) __ ADAPTATION ____________________ helps an organism survive better in its environment.


7.
Populations of insects and bacteria can evolve quickly because they usually have a short .____ GENERATION TIME __________________

Understanding Key Ideas

Multiple Choice

A

8.
Fossils are commonly found in


a.
sedimentary rock.
c.
granite.


b.
all kinds of rock.
d.
loose sand.

B

9.
The fact that all organisms have DNA as their genetic material is evidence that


a.
all organisms undergo natural selection.


b.
all organisms may have descended from a common ancestor.


c.
selective breeding takes place every day.


d.
genetic resistance rarely occurs.

Chapter Review continued
B

10.
Charles Darwin puzzled over differences in the _____ of the different species of Galapagos finches.


a.
webbed feet
c.
bone structure of the wings


b.
beaks
d.
eye color

C

11.
Darwin observed variations among individuals within a population, but he did not realize that these variations were caused by


a.
interbreeding.
c.
differences in genes.


b.
differences in food.
d.
selective breeding.

Short Answer


12.
Identify two ways that organisms can be compared to provide evidence of evolution from a common ancestor.

Living organisms can be compared in terms of body structures with other living organisms and with organisms from fossil records. The DNA can be also compared with other living organisms. 

13.
Describe evidence that supports the hypothesis that whales evolved from land-dwelling mammals.

Whales share many internal similarities with hoofed land mammals. Ancient fossils of four-legged land mammals exist from times when whales did not exist, but some of these fossils shared characteristics with modern whales and other hoofed mammals. A sequence of fossil organisms show how the characteristics of modern whales could have evolved from those of ancient mammals.


14.
Why are some animals more likely to survive to adulthood than other animals are?

Those animals that are better adapted to the conditions of their environment, including the condition competition with other organisms, are more likely to survive to adulthood.


15.
Explain how genetics is related to evolution.

Genetics provides a tool with which to analyze and explain what happens inside of cells as organisms evolve


16.
Outline an example of the process of speciation.

the speciation of the Galápagos finches
Chapter Review continued
19.
Making Inferences How could natural selection affect the songs that birds sing?

A bird’s song could be an advantage if the song helps the bird find mates or food, but the song could be a disadvantage if it attracts predators. So, natural selection would mean that birds whose songs were not an advantage might not survive, and songs would evolve that gave birds some kind of advantage.


20.
Forming Hypotheses In Australia, many animals look like mammals from other parts of the world. But most of the mammals in Australia are marsupials, which carry their young in pouches after birth. Few kinds of marsupials are found anywhere else in the world. What is a possible explanation for the presence of so many of these unique mammals in Australia?

Australia is an island, so the marsupials there could have evolved separately from other mammals around the world.



21.
Analyzing Relationships Geologists have evidence that the continents were once a single giant continent. This giant landform eventually split apart, and the individual continents moved to their current positions. What role might this drifting of continents have played in evolution?

As the continents drifted apart, populations of species would have been separated and may have had to adapt to new environmental conditions. The separated populations would likely have evolved into separate species over time.

Multiple Choice

A

22.
Which of the following factors is necessary in order for natural selection to occur in a species?

A.
genetic variation within a population

B.
an abundance of food resources

C.
a hospitable environment

D.
a strong family structure
Use the diagram below to answer question 23.




B

23.
The branching diagram shows the relationship between several species of finches. Which species’ DNA is most similar to the DNA of the tree finch?

A.
Ground finch

B.
Cocoa finch

C.
Vegetarian finch

D.
Warbler finch

C

24.
Which of the following is an example of natural selection?

A.
bears moving into a new part of a forest over many generations

B.
a tree growing towards sunlight

C.
shrubs growing longer thorns over many generations

D.
a plant growing between rocks

A_____25.
Charles Darwin noticed that finches on different islands of the Galápagos Islands were similar but that their beaks differed. What explanation for these differences did he propose?

A.
The beaks of the finches are adapted to the way the bird usually gets food.

B.
Specific genetic mutations occur that make beak size change in response to random selection factors.

C.
The different beaks of the finches would one day evolve into identical beaks.

D.
Beak size is related to the size of the finch.

B

26.
A scientist is studying fossils from different layers of sedimentary rock. Which rock layer will contain fossils that most closely resemble present-day organisms?

A.
older rock layers

B.
newer rock layers

C.
all of the rock layers

D.
none of the rock layers

D

27.
A population of organisms is separated into two groups for many years. When will the two populations be considered two different species?

A.
when the populations live in different habitats

B.
when the populations eat different food

C.
when the populations behave differently
D.
when the populations can no longer interbreed

Use the table below to answer question 28.

	Average Beak Measurements of
Birds of the Colores Islands

	Island
	Average beak length (mm)
	Average beak width (mm)
	Number of unique
species

	Verde
	9.7
	6.5
	        5

	Azul
	8.9
	8.7
	       15

	Rosa
	5.2
	8.0
	       10


A

29.
The table above shows average beak measurements for birds living on three islands. If narrow beaks are best for eating insects, on which island would you expect to find the most birds that eat insects?

A.
Verde Island

B.
Azul Island

C.
Rosa Island

D.
Verde Island and Azul Island

B

30.
Which of the following is an example of selective breeding? 

A.
Populations of lizards that have a certain trait become more numerous after a change in climate.

B.
Farmers allow only sheep that produce the best wool to breed.

C.
A population of bacteria develops resistance to an antibiotic.

D.
A population of insects develops resistance to a pesticide after farmers repeatedly use the same pesticide to kill the insects.

C

31.
Charles Darwin’s theory of natural selection was based partly on his observation that 

A.
DNA is the genetic material of all living things.

B.
all eukaryotic cells have a nucleus. 

C.
some organisms have more offspring than others do.

D.
garden pea plants can self-pollinate.

Open Response


32.
A scientist is studying fossils found in the Georgia Coastal Plain. Fossil A resembles fossil B, but fossil B was found in a deeper layer than fossil A was. Briefly describe the relationship between the fossils.

Fossil A is the youngest frossil and fossil B is the oldest fossil. Because of the similarity, fossil A and B may be related to each other or share a common ancestor.



32.
A population of lizards is separated when a canyon forms. The process of erosion widens the canyon, and the lizards become further separated. How will scientists know when the original species of lizard becomes two new species?
Speciation is the formation of new species as a result of evolution. The 2 groups are considered to be different species when they can no longer interbreed.


Interpreting Graphics

The graphs below show information about the infants that are born and the infants that have died in a population. The weight of each infant was measured at birth. Use the graphs to answer the questions that follow.
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33.
What is the most common birth weight?

about 7 lb



34.
At which birth weight is an infant most likely to survive?

about 7 lb



35.
How do the principles of natural selection help explain why there are more deaths among babies whose birth weights are low than among babies whose birth weights are average?

The infants who are best adapted to survive birth are those that weigh about 7 lb at birth.
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